


In a AABC, D, E and F are the mid-
points of side BC, CA and AB

respectively. If BC = 14.4 cm, CA =
15.2 cm and AB = 12.4 cm, what is

the perimeter (in cm) of the ADEF?

U® AABC ¥, D, E, 3R F $HHI: Al
BC, CA 3R AB & wea—fdg 2| afe
BC = 14.4 ¥, CA = 15.2 4 iR
AB = 12.4 |4l 8, I ADEF &1 URHMY
(A 7) @ 87

(a) 28 (b) 42 \jg.

(c) 35 (d) 21/\ &,

e




10% of Vinod’s salary is deducted
as house rent. 20% of the remaining
he spends on household items, 20%
of the remaining he saves and 10%

q of the remaining he gives to charity.
)( H—X After this, he is left with Rs. 16,848.
|D 5 5 \-D Find his monthly income.

Fa?ﬁ—q’$a—c|?raa 10% HBIH & fHIu
*M 4—?4&-$mﬁmmw%|ﬁﬁrm

JRIC—=>H6-ME-  20% a8 W avgen W @d Hear 2,

QS 39 BT 20% dg 949Tdl © 3IX AT &I
0= -3 10% 98 <9 ¥ <dl 2| sU® 49Ig
39d U9 16,848 HUd Y €dd © |

IYD! ARSI STd DITOIY |
7fa) Rs. 42,000 %) Rs..40,000

AK) Rs. 36,000 \dfRs. 32,500




The volume ratio of two cones is
4 : 5, while the radius ratio of their
bases is 2 : 3. The ratio between
their vertical heights is:

<l UGN B ATAAT BT AU 4 : 5
g 3R ST AERI B Brar @
IFUTd 2 : 3 B | IIDI HEAER FHATg

& 9 &1 U 87

(a)4:3 \/(1?)9:5

(c) 3:2 (d) 7 : 4
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A sphere of maximum volume is
cut out from a solid hemisphere of
radius 8 cm. The volume of the cut
out sphere is:

8 4l w1 ardt e oy Jsfna |9

JfSrHaH AT BT U Mol BICT
Ol 2 | d¢ gY M & A @

(a) 468.5 cm?3
(b) 2145.52 cm3

(c) 1668.32 cm?
(d) 268.19 cm?
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D\g NQ.A. (b) 3.2% of loss

A shopkeeper has two similar
items to sell. He marks one item at
a profit of 26% and sells at a
discount of 20% on the marked
price. He marks another item at a
profit of 18% and sells it at a
discount of 20% on the marked
price. His overall gain/loss
percentage in the transaction is:

Uh ghFaR & U 494 @ forg <
WA Il 2| 98 Udh avq Bl 26%
@ o R 3Afea sxar 2 R 3ifda
oI WR 20% $I BT UR 994l 2| 98
Udh 3 d& DI 18% & oM W
3ifdd &xar 2 3R S99 ifba Yo W
20% ®I BC U d9dl Bl A TP

l | €] Ao R g d9-<ad H Sl Bl T4 /B
(d) 2.4% of gain yfyerg =:



. From the top of a 195-m high cliff,
the angles of de sion of the top
and bottom a tower are 30° and

ﬁrﬂ?:$'¥ﬁ#~ﬁ%szﬁ S araeT

Gﬁﬂ@:@ﬁﬁ??ﬁ)éﬂﬂ7ﬁﬁﬁﬁﬂ
(a) 185 (b) 195
(9130 (d) 65

©



AB is a diameter of a circle with
centre O. The tangent at a point C
on the circle and AB, when produced

meet at the point P. If ZAPC = 38°,
then what is the measure of Z/PCB?

&% O dlcd Ud g &I A AB B |
qd W (s fdg ¢ W Wy & Ak
AB &I ¥4 9¢1IT WIdl =, df d fdg P
R fradt @1 afs zapc = 38° 2, dl
/PCB &1 #19 FT 87

(a) 23° \_|b}26°
(c) 29° (d) 19°




The interest on a sum of Rs. 1,225
for 2 vyears, when interest is
compounded annually at a certain
rate of interest, is Rs. 144, Find the

rate of interest per annum.

21,225 ¥9d &I AR W} 2 98 & fou
TSl 144 39 B | Od AT &l Uh
fiRga = &8 W aiffes wu =

gaifora fear oar 8, af arftfe sarw
X STd DIY |

4 2
5—% 6—%
(@) 5 (b) 6~

4ol 2 % ©(d) 5%%
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Water is flowing at the speed of 5

m/sec through a pipe having 7 cm
as its radius of cross section. How

5 much time will it take to fill a
?’% 7( -L'-S#X-l‘g‘ﬁ |@ cistern whose base area is (3 X 5) m?2
and height is 1.54 m?
/5%

g+l & Ursy & Heaw |9 5 #Hiew/
: dhs ® Tfa A 98 @1 2 el
Dy IRl dre @ Brour 7 AW 2| s
cd Dl " H fhaar wHg
Rra® MR &1 839%d (3 x 5) Hiex

IR Hars 1.54 Hex 27

\3) 5 min (b) 6 min

(c) 8 min (d) 10 min



A merchant professes to sell goods
at a loss of 5% but uses a weight of
900 grams in place of one kilogram.
What is his profit percentage?

Udh ATIRI 5% &I &8I R AT 49+
®1 QIdl Bl & odfbd Th fHUT @
WM U 900 UTH dul-l &I ISUAIT
BT © | SHBT odATH Ufaerd & 87?

a — /o — /0
105“/ b 65“/
9 9

5>9% (d) 4>%
9 9



A tank has an inlet which fills it up
from the empty state in 4 _Mours,
While the tank is 75% full, the tank

F \4 +| developed a leak, which would have
\1 emptied the full tank in 2 hours.
G Q - After the tank has leaked for an

ho it was noticed amﬁhe taiE was)

@ What percentage o e

ta will be empty after another
\_l _ O our?

‘ Uh <Hl H Ud Fidc 8, Wl 9

'NQX"ILW"OO/' Glefl W81 WX 4 °¥<S d guia: |R qdr

M}jﬁ,wﬁﬁn%ﬂﬁg‘éé,m‘?w

<ol 4 s RumE g wrdar 2, ol 2

@ S ¥ qf <@ B @rell SPeI 2 |

i vy NN

(a) 25 .ﬁﬁ ot ; o

(c) 0.75 (d) 0.5

fe ol _3go g3y o |
g & dIc bl HT fhaArm

ygferera 90T @refl 81 ordr 27







Three persons A, B and C start at
the same time in the same direction
to run around a circular playground.

A completes a round in 75 seconds,
)'\”V.l '}{} )?S-/,_%-?- B in 175 seconds and C in 130
seconds, all starting from the same

T’B — -:[‘ point. After what time (in minutes)
will they meet again at the starting

@ h-NSM,m#:ﬁjnZﬁﬁA,Baﬂ?cwﬁmﬁ

Ueh @l feem ¥ U guerR d@d @

AGH & IRl IR TSl IYH HId o |

VLS X')_q_a-'g A U6 TIqpx 75 ddbe H, B, 175

(a) 2271 (b) 2231 dbs A IR C, 130 dbs #A qxT

2 2 @var @, 9 e @ g 9 g s
2SS 225 & et ww A B W) 3 R

1 1
) 2287 d) 2297 wrPre fdg av fred?




In AABC, ZA = 66°, BD | AC and
CE | AB. BD and EC intersect at P.

The bisectors Z/PBC and ZPCB meet
at Q. What is the measure of ZBQC?

AABC ¥, ZA = 66°, BD L AC 3l
CE L AB ?| BD 3iX EC, P |} yfa=e
&d = | GafgHTsi®d «PBC 3R ZPCB,
Q ficid | #BQC &) HIY HIT &7

(a) 127° (b) 132°

(c) 143° vul( 47°
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A person saves 60% of his income
after a deduction of 10% income
tax. One year later, his income
increases by 100%. After deducting
the same percentage of income tax,
he saves 70% of his tax deducted
income. What is the percentage
hike/drop in his expenditure?

Udh AP 10% IATADB DI Heldl ®
91< 3l 3T BT 60% §dTdl & | Ud
a9 91, ISP 3T H 100% @1 gfg
gidl 2| AP BT GHIE  gfawra
®Tcd ® 91g, 98 AUl B PHeldl DI

g3 3 P 70% d9Idl 2 | SUD A
H gfg /o ufaera fea-m 282

(a) Hike, 65% Uﬁike, 50%
(c) Drop, 50% (d) Drop, 65%




(a) 2200Qb] 23000

_e125000

(d) 26000

In an election between two
candidates, 8% of the voters did not

cast their vote. Also, 10% of the
votes polled were found invalid. The

successful person got 60% of the
valid votes and won by the majority

4140. The number of voters enrolled
in the voter list was:

ql S¥flqart @ da 8¢ 919 ¥ 8%
Aqaqral A 9T dle A8l STel |
|1 81, STl ¢ 10% dic 3Jdg UTy
MY | A% Afh &l 60% de dic fied
3R 98 4140 & «gdd 9 Sffar|
Hqderdl Yol § Aifed Ad<rasi &l
T of:



The lateral surface area of a cone
depends on the radius and its slant
height. If there is a decrease of 10%
in the radius and an increment of
10% in the slant height, the
percentagbhe increase/decrease in
the LSA is:

Ud ¥d &I Ursd g ga%d Broan
IR S9d! fd®d Hars W AHY sar
21 afe B 7 10% @ A 3R
fods Sarg # 10% @ gfg = 2,

dl urd gy gA%d H NS
qfg / I =

(a) 2% increase (b) 2% decrease

(c) 1% increase 9,)’1% decrease



An annual instalment of Rs. 1,925

illLdischarge a debt of Rs. Y due in
3 ye at 16% simple interest per
\00 annum. What is the wvalue of y?

(Note: instalments will be paid at
\DD the end of year 1, year 2 and year

\oO - 3.) (R+t])/6 =42
ESO 800H3 1,925 U4 ®I Uk diiied fbed 16%

qiftfe greRer a1 R 3 auf d 29
y S0 & RV BT fded dRIAT| y &1

8%
('{"I' \)7\\{5 oo —H% a7 27
‘3‘-(3—'@_“ ((ie: feeal &1 qrae o 1, ad 2
R a8 3 qad # fHar Srewm )
@ @ 6659K D) 696947
\4¢1 6699/ (d) 6669 ‘)(



A and B invest Rs. 24,000 and Rs.
36,000, respectively, to form a
partnership. Eheir agreement is to

share half of the total profit equally,
and then share the remaining half in

the ratio of their capita!s.llf they

share the entire profit in the ratio of
their capitals, B would have got Rs.
2,500 more than what she would
have got otherwise. What is the

total profit? \_w mtlﬂ ﬂm

A 3R B Us GEITN ¥ @ fov
$HHI: 24,000 U IR 36,000 TUY
&1 19 &xd 2 | S9Id1 gHAlar fel
ok B 2 <102 1 O e e 1 A s S 1



& ', 3R R Oy g e &l
SI@] Yforal @ 3uTd § 9IS Bl
el gf¢ 4 ol qforal @& aqura o
UR ™ P WIS $d =, df B bl qd
# g g9 arefl a1 | 2,500 v
Jftred 9T B | Bl ATH T 27

(a) Rs. 43,000 (b) Rs. 47,000
(c) Rs. 48,500 (d) Rs. so%o




A circle is inscribed in AABC,
touching AB, BC and AC at the
points P, Q and R, respectively. If
AB-BC=4cm, AB-AC =2 cm and
the perimeter of AABC = 32 cm,
then AC (incm)=7?

Ud 931 AABC ¥ 3afifaa 81 AB, BC
3R AC &I HH%: fdg P, Q 3R R W
wﬁaﬂmélzr&*ms BC = 4 4},

- AC = 2 9"l 3R AABC &I
trﬁwszﬁﬂ’r% dl AC &1 d19 &1

(a) 35/3 (b) 38/3 ©

2/3 (d) 26/3




If a2 + b2 + 49¢2 + 18 = 2(b + 28¢c -
a), then the value of (2a - b + 7c¢) is:

afe a2 + b2 + 49¢2 + 18 = 2(b + 28¢ -
a), a1 (2a-b + 7c) BT A &

(a) S (b) -3

(c) 4 Jd-)’l
Qe)-|+



Chords AB and CD of a circle
intersect externally at P. If AB = 7
cm, CD=1cm and PD = 5 cm, then
50% of the length of PA (in cm) is:

Ud g1 &l SfIdid AB 3R CD 91l &y
o 28 % 4 P WX yfd=8< &xdl 2 | afc AB = 7
r O 441, cD = 1 |4 3R PD = 5 |4, @i

PA &1 ddIs &1 50% (G #) 2:

> S B ‘Jz]{ (b) 10

& (c) 8 ) 3



In a right-angled triangle, the
lengths of the medians from the
vertices of acute angles are 7 cm

and 4./6 cm. What is the length of
the hypotenuse of the triangle (in
cm)?

Uh GBIV e 4 ga @il @
sfief | wAfegdRn @ o9 7 |9
s af6 Wl 2| Prgr @ o @



In an election of three candidates

/_\ P, Q and R, R gets 80% more votes
P (& '2 than Q. R also defeats P by 48,450
votes. If Q gets 87.5% more votes

8 ‘Cez 2 4_ than P, what is the total number of
voters on the voting list if unlz 85%

2950 voters show up for polling and there

were no invalid votes?
Mﬁw 7 Seflcay P, Q AR R @& &
g H, R &1 Q 4 80% 3f&d #Hd
ffled €1 R, P &1 48,450 #dl < &Idl

9&?5)( Xl@’l 2] afe Q &1 P 9 87.5% 3+
ﬁ A4 urwd @id 8, dl #dqrar gdr #
C HASIAIBIT &1 Gl &G &1 8 IgfQ
(a) 1,27,500  (b) 1,25,000 ddd 85% Hﬂ‘cﬂfﬂ A @ f’c‘-m
C Suferd gld & 3R &I 3y ud 8]

(c) 1,50,000 ) (d) 1,42,500 o}?




X +3Y+ 66493

A person ran 37 km in the first
week, an average of 34 km in the
next 4 weeks, and 66 and 48 km
each in last 2 weeks. How many

kilometres per week did he run on
an average?

Ud ARt Usd 9we # 37 fo,
Tl 4 9w A 3aad 34 el 3
dfow 2 wwEe ¥ 66 3R 48 foHH
dlear 21 98 ufd wwE siwad

foa+t feridficr glsar o
(a) 51 km  \{b}4T km

(c) 31 km (d) 49 km
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A bookshelf is sold for Rs. 24,500
cash or for Rs. 17,000 cash down
payment together with Rs. 9,000 to
be_paid after one month. The rate of
interest charged in the instalment
scheme is:

Uh fodEl @1 JITIR) B 24,500
mmmnoooma%m
S8 Ude W &4r oar 2 forad
Uh Hald & d9Ic 9,000 JUd Bl
qrar fear o 2, fewa giear 4
ol §ITH aTefl &1 BLGR @

(a) 2 ‘/@

(c) 1.8 (d) 2.5




If VA y)? - (x - y)® - 3y(2x? - 3y?) =
ky?3, then find the value of k.

i (x + y)? - (x - y)® - 3y(2x2 - 3y?) =
ky3, O k &1 A9 SITd_BIFT |

(a) 8
(c) 10




A shopkeeper bought 60 pencils at
a rate of 4 for Rs. 5 and another 60
pencils at a rate of 2 for Rs. 3. He
-as mixed all the pencils and sold them
at a rate of 3 _for Rs. 4. Find his gain
or loss percﬁq age.

o
S |691% sHFeR 5 vud ¥ 4 B X 9 60
/’E/ ﬁﬁﬁ?aﬁ? 90 # 2 ®I ¥ ° 60
l IRdl @igar 2 1 98 9 ufenl @i
116{ — AT 2 3R S= 4 39 H 3 @I X

gﬁﬁ 49 <dl & | SH®I a1 BT+
gfrerd sitd Iy |

—9 Loss 3—%
(a) Profit 33 /o (/ 33 0

7
(b) Loss 2%% (d) Profit 25%



